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17 [PrraAray 0.02 me/ILLT 0.001[< 0.001
#18 |[Fh3HEOIFLY 0.01 me/IUT 0.001[< 0.001
#19 |M)yOBEIFLY 0.01 meg/ILLT 0.001[< 0.001
#20 [RoEY 0.01 me/ILLT 0.001[< 0.001
Ho |fEHRE 0.6 mg/ILLF 0.06 0.07
#22 |YOOFEE 0.02 mg/ILT 0.002[< 0.002
#23 [yookiLL 0.06 me/ILLT 0.001 0.001
24 |DHOOFE 0.04 me/ILLT 0.003[< 0.003
#25 |CTOEI/OOARY 0.1 mg/IAT 0.012 0.022
H26 |[RFEE 0.01 me/ILLT 0.001[< 0.001
H27 [#BrY/BAEY 0.1 mg/ILLF 0.0395 0.076
#28 |M)HOOEEE 0.2 meg/ILT I I 0.003[< 0.003
#29 [JnESH/OOARY 0.03 mg/ILLT 0.005 0.003 0.001 ooos] | J< oo [ ] 0.003 0.006
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H39 [HLS DL TRV LEEE) 300 me/ILF 47 47
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#42 |CxFRIV 0.00001 mg/ILLF 0.000002 0.000002
H43 [2-AFILAVRILRA—IL 0.00001 me/ILLF 0.000001[<  0.000001
a4 A REEER 0.02 mg/IUTF 0.002[< 0.002
#45 [Jz/—ILE 0.005 me/ILLF 0.0005(< 0.0005
46 |AHY (EEFHRE(TOC)DE) 3 mg/ILF . . . . X 0.6 0.9
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#50 | 5 EUT|K 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5
51 |BE 2 EUTFKK 0.1/< 0.1|< 0.1|< 0.1|< 0.1|< 0.1|< 0.1|< 0.1|< 0.1 0.4< 0.1|< 0.1 0.125 0.4
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#o5 [UTnEY/OOARY 0.1 mg/ILF 0.020 0.032
26 |BHKH 0.01 me/ILLT < 0.001[< 0.001
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Hoy |EREEESR 0.04 mg/ILLT P 0.004/< 0.004/< 0.004
10 [T UEPIF U RUERS T 0.01 me/IUT 0.001[< 0.001[< 0.001
1 |WREZRRVEMBERESR 10 me/ILLT 0.28 0.28
12 [DVRRUZOLEED 0.8 mg/ILLF 0.09 0.09
£13 [ RRUZOIEED tegns] 0 ¢ ol 0 [ 00 | - K 04[< 0.
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H24 |CHOOFREE 0.04 me/ILLT 0.003 0.003
#o5 [UTnEY/OOARY 0.1 mg/ILF 0.024 0.036
26 |BHKH 0.01 me/ILLT < 0.001[< 0.001
#27 [#8h)NDAEY 0.1 mg/ILLF 0.067 0.091
#28 |M)HOOEEE 0.2 meg/ILT I I < 0.003[< 0.003
#29 [JnESH/OOARY 0.03 mg/ILLT 0.006 0.008 0.009 ool | [ oo [ ] 0.007 0012
#30 [JoEFILL 0.09 me/IELT B 0.051 0047 0.046 oo3sf [ [ op1f ] | ! 0036 0.051
31 [ LT LTER o0gmgwrFl [ < ooosf ] = J< ooosf [ = [< ooosf [ ] 008[<  oo08l< 0008
32 |EHRUZDILLEY 1 me/IUF 0.007 0.007
33 |ZLIZHLRUZDILEY 0.2 mg/ILLF 0.02 0.02
£34 [BRUEOIEEY dmemFli bl bl bl b b 0.03[< 003
£35 [HRUEDIEEY gt | < o0 f I [ @ K 001[< 001
#36 [FRIVLRUZDILEY 200 me/ILIF 13.6 13.6
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46 |AHY (EEFHRE(TOC)DE) 3 me/IUT 0.5 0.4 0.7 0.8 0.9 0.8 0.6 0.7 0.5 0.4 0.5 0.6 0.9
H47 |pHIE CKFRAAVIRE) 5851 E~86LUTF 7.1 7.2 74 74 74 74 7.3 7.3 7.1 7.3 7.2 7.1 7.3 74
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51 |BE 2 EUTFKK 0.1/< 0.1/< 0.1< 0.1< 0.1/< 0.1/< 0.1< 0.1< 0.1< 0.1/< 0.1< 0.1/< 0.1/< 0.1




EHEK (R X) KEREREE

(ERR275F . X#IRE)

REEE HAEfE 48 58 6A 7R 8A 9A 108 118 128 18 2AH 3A FHfE HKIE

o1 |— s 100 {&/ml 0 0 0 0 0 0 0 0 0 0 0 0 0 0
02 | K& & g g g & & & & & & & g g TR TR
03 [AFSYLRUZOILEN 0.003 mg/ILLT ——-————-——— 00003[< 00003
204 [KEBRUZDIEEY 00005 msFlisi ik oooo0sf b b bl bl K 000005 0.00005
05 [tLURUZOILED ootmews] | < o0f [ 1 1 [ [ I 1 [  [< ooor< oo
£06 [SARUEDIEEY s e TR
207 [ERRUZOEEN ootmews] | | o0f [ 1 1 [ [ I 1 [  [< o< oo
£08 |Aflio0AMLEY oosmyeTlii bk ooosl e il b i ek 0008k 0005
2oy |BRHBEER oo4mews] | < oof [ < ooodf [ ¢ ooo4f | | 0004/<  0004]< 0004
B0 L7 A RS 7Y [ 00tmewr) 0 ] 000 ¢ oo [ 2000k o ] 0 oooff [ | ooo1f<  oooif< 0001
Ei1 |REEESRRUERBEEER 10 mg/IUT ] B 0.29 0.29
12 [DVRRUZOLEED 0.8 mg/ILLF 0.09 0.09
£13 [ RRUZOIEED fogwesl [ < o 1 o . 1 [ [ K 04< 01
14 g (LR oo meTliii b ik ooo2l b b b el B K oooo2k 00002
15 [14-SF %4> oosmews] | 0 ] osf [ 1 [ [ [ 1 [  [< oos< 0005
E16 |va-12-9m01FLY R b5YA-1,2-Y H0ATFLY 0.04 me/ILLTF _—_———————— 0.001[< 0.001
£17 [So0045y oo2mews] | | o0f [ 1 1 [ [ I 1 [  [< ooot< oo
£18 [7h5/00TFLY s . TR
19 [F)yO0TFLY ootmews] | | oeof [ 1 1 [ [ I 1 [  [< oootf< oo
20 [Py 001 my/bAT ___________ 0001[< 0001
221 5% 0.6 ma/IUT ] ] 007 0.09
#22 |/ODEE 0.02 me/IEF < 0.002< 0.002
#23 [yookiLL 0.06 me/ILLF 0.002 0.005
24 |SUOOER 0.04 me/ILF 0.004 0.006
#o5 [UTnEY/OOARY 0.1 mg/ILF 0.026 0.041
H26 [RHH 0.01 me/IEF < 0.001< 0.001
#27 |[fahyDARY 0.1 mg/IATF 0.069 0.094
#28 |M)HOOEEE 0.2 meg/ILT I I < 0.003[< 0.003
#29 [JnESH/OOARY 0.03 mg/ILLT 0.007 001 0018 oots] | [ oo [ ] 0010 0018
#30 [JoEFILL 0.09 me/IELT B 0047 0048 oodf  F ] go19f | ! 0032 0048
31 [ LT LTER 0.08 me/ 11T ——-———-— 008[<  0008]<  0.008
32 |EHRUZDILLEY 1 me/IUF 0.005 0.005
#33 [7ILIZYLRUZDILEY 0.2 mg/IAF 0.02 0.02
£34 [BRUEOIEEY dmemFli bl bl bl b b 0.03[< 003
235 [ARUZOIEEY togwedl [ < oo 1 1 [ [ ] K 001[< 001
#36 [FRIVLRUZDILEY 200 me/ILIF 12.6 12.6
37 [RoA RUZOEED o0smew] | 0 ] oe0f [ 1 1 [ I I} [  [< ooor< oo
38 IR 14> 200 mg/ILLF 18.0 21
H39 (HILPIL TR LEEE) 300 meg/IUTF 44 44
40 |HREEBRY 500 mg/ILLF 119 119
a1 [BAA S REEIEA ozmgws | 0 f¢ oeof [ V1 1 [ [ 002[< 002
#a2 [Szrzrsy 0.00001 me/IEF 0oo0001]  oooooo1]< oooooot]| ooo0003f [ [ | | I |""ooo0002] 0.000003
43 |2-AFLAVRILAA—I 0.00001 mg/ILLF 0.000001]<_ 0000001[< o0o000001[< 000000t [ [ [ [ [ [ 0000001[< 0000001
B4 | AA Y REEIEH oemyeTlii bk oo b b b e b b K ook oom
#45 [92/— )18 0.005 mg/ 11T ——-————-——— 00005[< 00005
46 |AHY (EEFHRE(TOC)DE) 3 me/IUT 0.4 0.5 0.7 0.8 0.9 0.9 0.6 0.6 0.6 0.4 1.0 5
H47 |pHIE CKFRAAVIRE) 5851 E~86LUTF 7.2 7.2 74 74 743 75 74 7.3 7.2 7.1 7.3 7.2 7.3 75
48 |k BEETHWCE BEELL EELL EELL EELL EELL EELL EELL EELL EELL EELL EELL EELL EELL EELL

H49 |RK EETHLCE BEELGL BEELL BEELL BEELL BEELL BEELL BEELL BEELL BEELL BEELL BEELL BEELL BEELL BEELL

E S 5 BEUT K 05(< 05[< 05(< 05[< 05(< 05(< 05[< 05[< 05[< 05[< 05[< 05[< 05[< 05
51 |BE 2 EUTFKK 0.1/< 0.1/< 0.1< 0.1< 0.1/< 0.1/< 0.1< 0.1< 0.1< 0.1/< 0.1< 0.1/< 0.1/< 0.1




KUk (BEHX) KEREREE

(ERR275F . X#IRE)

REEE HAEfE 4R 58 6A 7R 8A 9A 108 118 128 18 2AH 3A FHfE HKIE

o1 |— s 100 {&/ml 0 0 0 0 0 0 0 0 0 0 0 0 0 0
#02 | KiBE TR TR TR T#ﬁ.‘ﬂ TR TR TR TR TR TR TR TR TR TR TR
H03 |HRIVLRUZDIEEY 0.003 mg/ILLF 0.0004 0.0004
204 [KEBRUZDIEEY 0.0005 my/LF ___________ 000005|<__0.00005
#£05 [*LURUZOIEER ootegwwdl [ k< of } T ¢ I I 0 I = [ ooof< oo
£06 [SARUEDIEEY s e TR
207 [ERRUZOEEN ootegwwdl [ < of } T ¢ I 0 I = [ ooof< oo0
£08 |Aflio0AMLEY oosmyeTlii bk ooosl e il b i ek 0008k 0005
2oy |BRHBEER oo4mgwnFl [ 0 < oo ]  J¢ oo [ [ ooodf [ ] 0004<  0004f< 0004
B0 L7 A RS 7Y [ 00tmewr) 0 ] 000 ¢ oo [ 2000k o ] 0 oooff [ | ooo1f<  oooif< 0001
Ei1 |REEESRRUERBEEER 10 mg/IUT ] B 0.29 0.29
£12 [J9RRUZOIEEY osmomFli bl omp b bl b bl 0.08[< 0.08
£13 [ RRUZOIEED g | < o f I [ @ K 04[< 0.
14 g (LR oo meTliii b ik ooo2l b b b el B K oooo2k 00002
15 [14-SF %4> osmgwrrl [ 0k oesf [ | I I [ 1 = [¢ ooosk o005
E16 |va-12-9m01FLY R b5YA-1,2-Y H0ATFLY 0.04 me/ILLTF _—_———————— 0.001[< 0.001
£17 [So0045y oo2mgwwdl [ 0} of  } T I I 0 I = [ ooof< oo
£18 [7h5/00TFLY s . TR
19 [F)yO0TFLY ootegwwdl [ < of  } T ¢ I 0 I = [ ooof< oo
20 [Py 001 my/bAT ___________ 0001[< 0001
221 5% 0.6 ma/IUT ] ] 007 0.09
22 |yOOEE 0.02 mg/ILLF 0.002 0.002
#23 [yookiLL 0.06 me/ILLT < 0.001[< 0.001
H24 |CHOOFREE 0.04 me/ILLT < 0.003[< 0.003
#o5 [UTnEY/OOARY 0.1 mg/ILF 0.002 0.004
26 |BHKH 0.01 me/ILLT < 0.001[< 0.001
o7 |#BR)NDAEY 0.1 mg/ILLF 0.005 0.009
#28 |M)HOOEEE 0.2 meg/ILT < 0.003|< 0.003
#29 |[JnECH/OOAEY 0.03 me/ILLT 0.001 0.001
£30 [FOEhLL e e G Y B e QT B e R YT S A 0002 0004
31 [ LT LTER o0gmgwaFl [ < ooosf ] = [< ooosf [ = [< ooosf [ ] 008[<  oo08l< 0008
32 |EHRUZDILLEY 1 me/IUF X 0.046 0.046
£33 [7IL3=) LRUZOEEY o2mgr | 2 Kk 0 [ I [ I @ K oot[< 001
£34 [BRUEOIEEY dmemFli bl bl bl b b 0.03[< 003
£35 [HRUEDIEEY gt |k o0 f I [ @ K 001[< 001
#36 [FRIVLRUZDILEY 200 me/ILIF 185 185
37 [RUARUEDIEE 0mgw®l [ 0} oef ~ } F ¢ P I = [k oomf< oo
38 IR 14> 200 me/IBLF . . 51.5 114.8
H39 [HLS DL TRV LEEE) 300 me/ILF 58 58
40 |HREEBRY 500 mg/ILLF 176 176
a1 [BAA S REEIEA o2mewr| | 0 e [ I I @ K 002[< 002
#a2 [Szrzrsy 0.00001 me/IEF 0000001]<  0000001]< o0o000001]< o00o00otf [ [ [ [ | [ 0000001[< 0000001
43 |2-AFLAVRILAA—I 0.00001 mg/ILLF 0.000001]<_ 0000001[< o0o000001[< 000000t [ [ [ [ [ [ 0000001[< 0000001
B4 | AA Y REEIEH oemyeTlii bk oo b b b e b b K ook oom
#45 [92/— )18 0.005 mg/ 11T ——-————-——— 00005[<_ 0.0005
46 |AHY (EEFHRE(TOC)DE) 3 me/IUT 0.3[< 03] < 0.3 4< 0.3 0.3 03] < 0.3 0.6
H47 |pHIE CKFRAAVIRE) 5851 E~86LUTF 6.9 7 6.9 6.9 6.9 7 7 6.9 7 6.9 6.8 7 6.9 7
H48 [k ERTRLCE | EELGL BEAL BEAEL BEAEL BEHEL BEHEL BEHL BEAL BEAL BEAL BEAL BEAL BEAL BEAL

H49 |RKR BEETELCE | BELL BEELL BERLL BERAL BELL BELL BELL BERLL BEELL BEELL BEELL BRLL BERLL BERLL

#50 | 5 EUT|K 0.5)< 0.5)< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5
51 |BE 2 EUTFKK 0.1/< 0.1/< 0.1|< 0.1< 0.1/< 0.1/< 0.1< 0.1|< 0.1|< 0.1|< 0.1|< 0.1|< 0.1|< 0.1




BIREAMERNK) KEREHREE

CER215E  X£EH)

REEE HAEfE 48 58 6A 7R 8A 9A 108 118 128 18 2AH 3A FHfE HKIE
o1 |— s 100 {&/ml 0 0 0 0 0 0 0 0 0 0 0 0 0 0
#02 | KiBE TR TR TR TR TR TR TR TR TR TR TR TR TR TR TR
£03 [IFEYLRUZDIEAD 0003 mg/AF ——-————-——— 00003[< 00003
204 [KEBRUZDIEEY 00005 msFlisi ik oooo0sf b b bl bl K 000005 0.00005
#£05 [*LURUZOIEER ootegwwdl [ k< of } T ¢ I I 0 I = [ ooof< oo
£06 [SARUEDIEEY s e TR
207 [ERRUZOEEN ootegwwdl [ < of } T ¢ I 0 I = [ ooof< oo0
£08 |Aflio0AMLEY oosmyeTlii bk ooosl e b b i ek 0008k 0005
09 |EHEBEER 0.04 mg/IUT I 0.004[< 0.004[< 0.004
10 [T UEPIF U RUERS T 0.01 me/IUT 0.001[< 0.001[< 0.001
1 |WREZRRVEMBERESR 10 me/ILLT 0.3 0.3
#12 [JvRRUZOLEEY 0.8 me/ILLF . B R 0.08[< 0.08
£13 [ RRUZOIEED tegns] 0 ¢ ol 0 [ 00 | - K 04[< 0.
H14 [mEERE 0.002 me/ 1T . b B I¢ o000k 00002
Hi15 |[14-SAFH 0.05 mg/ILLT - K 0.005< 0.005
H16 |va-12-0/A01FLY RIYR-1,2-Y JAOIFLY 0.04 mg/ILIF _—_— 0.001(< 0.001
£17 [So0045y oo2mgwwdl [ 0} of  } T I I 0 I = [ ooof< oo
£18 [7h5/00TFLY s . TR
19 [F)yO0TFLY 008mgwrl [ 0 of  } T I I 0 I = [ ooof< oo
20 [Py ootmeTli bk oo bl e K oonk  ooot
ENNEES ogmenr| | 0 f¢  ooe] [ ] oosf ] = [ oo [ | 007 0089
EPAPEEEG oemyeTlii b ik ool < oosf b < oo ] < < 0002< 0002
%23 [yEEALL 0omgwndl [ 0 < ooy ] 0 J<¢ oo [ @ < oof | [« < oootf< 0001
E24 |ynOEFE odmyeTliia b ik oooslia e < oomfa b < ooosh ] < < ooosl< 0003
25 [ST0EHO045Y otmgrl | 0 [ ooosf [ T oeof ] = [ oo [ | 0004 0006
26 |R5%H e ] . @ern K < oooifc o001
a7 [#h)\DA5Y otmgrl | [ oorf [ I oo ] = [ ooos) [ | 0009 0014
228 |b)oOOEEE ozmomFli bl oomf < oo0sh b < ooosh b ] < < ooosl< 0003
#29 [JnESHORAEY 003mgwrrl [ | oy  } [ oosf [ [ oo [ ] 0002 0003
£30 [FOEhLL oomyeTlia b ] ooosl ] ool ] ooo2b b 0003 0005
31 [ LT LTER o0gmgwaFl [ < ooosf ] = J< ooosf [ = [< ooosf [ | < o008< 0008
32 |EHRUZDILLEY 1 me/IUF 0.033 0.033
£33 [7IL3=) LRUZOEEY o2mgr | 2 Kk 0 [ I [ I @ K oot[< 001
£34 [BRUEOIEEY dmemFli bl bl bl b b 0.03[< 003
£35 [HRUEDIEEY g | < o0 f I [ @ K 001[< 001
#36 [FRIVLRUZDILEY 200 me/ILIF 16.3 16.3
37 [RUARUEDIEE 0mgwdl [ 0} oef ~ } F ¢ 0 P I = [k ooof< oo
38 IR 14> 200 me/IBLF . . 46.0 102.5
H39 [HLS DL TRV LEEE) 300 me/ILF 45 45
40 |HREEBRY 500 mg/ILLF 133 133
a1 [BAA S REEIEA o2mewr| | 0 e [ I I @ K 002[< 002
#a2 [Szrzrsy 0.00001 me/IEF 0000001]<  0000001]< o0o000001]< o00o00otf [ [ [ [ | [ 0000001[< 0000001
43 |2-AFLAVRILAA—I 0.00001 mg/ILLF 0.000001]<_ 0000001[< o0o000001[< 000000t [ [ [ [ [ [ 0000001[< 0000001
B4 | AA Y REEIEH oemyeTlii bk oo b b b e b b K ook oom
#45 [92/— )18 0.005 mg/ 11T ——-————-——— 00005[<__ 0.0005
46 |AHY (EEFHRE(TOC)DE) 3 me/IUT 0.3 0.3[< 03] < 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.4
H47 |pHIE CKFRAAVIRE) 5851 E~86LUTF 7 7.1 7 6.9 7.1 7.2 7.2 7 7.1 7 6.9 7.1 7.1 7.2
H48 [k ERTRLCE | EELGL BEAL BEAEL BEAEL BEHEL BEHEL BEHL BEAL BEAL BEAL BEAL BEAL BEAL BEAL
H49 |RKR BEETLRLCE | BELL BEELL BERLL BERAL BELL BELL BELL BERLL BEELL BEELL BEELL BRLL BERLL BERLL
#50 | 5 EUT|K 0.5)< 0.5)< 0.5)< 0.5 0.5 0.5 0.5 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5[< 0.5
51 |BE 2 EUTFKK 0.1/< 0.1/< 0.1|< 0.1 0.1 0.1 0.1 0.1|< 0.1|< 0.1|< 0.1|< 0.1|< 0.1|< 0.1




HURE K (R ABR /AL RLE) KEREREE

(ERR275F . X#IRE)

REEE HAEfE 4R 58 67 7R 8A 9A 108 118 128 18 2AH 3A FHiE HKIE

o1 |— s 100 {&/ml 0 0 0 0 0 0 0 0 0 0 0 0 0 0
Ho2 (Kip# T T T T T4 T T T T4 T T T T TR H TR H
£03 [IFEYLRUZDIEAD 0.003 ms/ILLT ——-————-——— 00003[< 00003
204 [KEBRUZDIEEY 00005 msFlisi ik oooo0sf b b bl bl K 000005 0.00005
#£05 [*LURUZOIEER ootegwwdl [ k< of } T ¢ I I 0 I = [ ooof< oo
£06 [SARUEDIEEY s e TR
207 [ERRUZOEEN ootegwwdl [ < of } T ¢ I 0 I = [ ooof< oo0
£08 |Aflio0AMLEY oosmyeTlii bk ooosl e il b i ek 0008k 0005
2oy |BRHBEER oo4mgwnFl [ 0 < oo ]  J¢ oo [ [ ooodf [ ] 0004<  0004f< 0004
B0 L7 A RS 7Y [ 00tmewr) 0 ] 000 ¢ oo [ 2000k o ] 0 oooff [ | ooo1f<  oooif< 0001
Ei1 |REEESRRUERBEEER 10 mg/IUT ] B 057 057
12 [DVRRUZOLEED 0.8 mg/ILLF 0.11 0.11
£13 [ RRUZOIEED g | < o f I [ @ K 04[< 0.
14 g (LR oo meTliii b ik ooo2l b b b el B K oooo2k 00002
15 [14-SF %4> osmgwrrl [ 0k oesf [ | I I [ 1 = [¢ ooosk o005
E16 |va-12-9m01FLY R b5YA-1,2-Y H0ATFLY 0.04 me/ILLTF _—_———————— 0.001[< 0.001
£17 [So0045y oo2mgwwdl [ 0} of  } T I I 0 I = [ ooof< oo
£18 [7h5/00TFLY s . TR
19 [F)yO0TFLY ootegwwdl [ < of  } T ¢ I 0 I = [ ooof< oo
20 [Py 001 my/bAT ___________ 0001[< 0001
221 5% 0.6 ma/IUT ] ] 012 0.18
#22 |YVODOERE 0.02 me/ILLT < 0.002[< 0.002
#23 |yoOkLL 0.06 me/ILLT < 0.001[< 0.001
H24 [CHOOEE 0.04 me/ILLT < 0.003|< 0.003
#o5 [UTnEY/OOARY 0.1 mg/ILF 0.008 0.013
H26 [RHH 0.01 me/ILLT < 0.001[< 0.001
#27 [#8h)NDAEY 0.1 mg/IATF 0.034 0.058
#28 |M)HOOEEE 0.2 meg/ILT I I < 0.003[< 0.003
#29 [JnESH/OOARY 0.03 mg/ILLT 0.002 0.001[< 0.001 oo2f [ J< oomf o | | 0.002 0.002
#30 [JoEFILL 0.09 me/IELT B 0019 0032 0.05 oo28f [T g0pp ] ! 0025 0.05
31 [ LT LTER ogmgwaFl [ < ooosf ] = J< ooosf [ = [< ooosf [ ] 008[<  oo08l< 0008
32 |EHRUZDILLEY 1 me/IUF X 0.013 0.013
£33 [7IL3=) LRUZOEEY o2mgr | 2 Kk 0 [ I [ I @ K oot[< 001
£34 [BRUEOIEEY dmomFli bl bl b b bl 0.03[< 003
£35 [HRUEDIEEY gt | [ o [ ! I I [ ] 005 005
#36 [FRIVLRUZDILEY 200 me/ILIF 13.8 13.8
37 [RoA RUZOEED 0mgwdl [ 0} of  } F ¢ 0 P I = [k ooof< oo
38 IR 14> 200 me/IBLF . . 18.0 19.9
H39 [HLS DL TRV LEEE) 300 me/ILF 53 53
40 |HREEBRY 500 mg/ILLF 132 132
a1 [BAA S REEIEA o2mewr| | 0 e [ I I @ K 002[< 002
#a2 [Szrzrsy 0.00001 me/IEF 0000001]<  0000001]< o0o000001]< o00o00otf [ [ [ [ | [ 0000001[< 0000001
43 |2-AFLAVRILAA—I 0.00001 mg/ILLF 0.000001]<_ 0000001[< o0o000001[< 000000t [ [ [ [ [ [ 0000001[< 0000001
B4 | AA Y REEIEH oemyeTlii bk oo b b b e b b K ook oom
#45 [92/— )18 0.005 mg/ 11T ——-————-——— 00005[<__ 0.0005
46 |AHY (EEFHRE(TOC)DE) 3 me/IUT 0.6 0.4 0.7 0.5 0.7 0.5 0.4 0.6 0.4 0.4 0.4 0.5 0.7
H47 |pHIE CKFRAAVIRE) 5851 E~86LUTF 6.9 6.8 6.8 6.8 6.8 6.8 6.8 6.8 6.8 6.8 6.9 6.8 6.8 6.9
248 Bk BETHENCE | EEHL BELL 2ELGL 2ELL 2ELL 2EHL BELL BELL BELL BELL BELL BELL BELL BELL

H49 [BR BETHLCE | EE¥AL E RELL BRELL RELL RELL RELL RELL RELL RELL RELL RELL RELL RELL

50 |BE 5 ELUT[K 05[< 05/< 05[< 05/< 05/< 05/< 05/< 0.5/< 0.5/< 0.5/< 0.5< 0.5/< 0.5/< 0.5
51 |BE 2 EUTFKK 0.1/< 0.1/< 0.1< 0.1< 0.1/< 0.1/< 0.1< 0.1< 0.1< 0.1/< 0.1< 0.1/< 0.1/< 0.1




EFHEAK (KEHX) KEREREE

(ERR275 . X#TRE)

REEE HE(E 4R 58 6A 7R 8A 9A 108 118 128 18 2AH 3A FHfE HKIE
o1 |— s 100 {&/ml 0 0 0 0 0 0 0 0 0 0 0 0 0 0
02 | K& & ] ] ] ER:d N3 N3 N3 ER:d ER:d 3 ] ] T T
03 [AFSYLRUZOILEN 0.003 mg/ILLT ——-————-——— 00003[< 00003
204 [KEBRUZDIEEY 00005mwyl o f K oeosf - b} o} P PP b B [ ocoonsc 000005
05 [tLURUZOILED ootmews] | < o0f [ 1 1 [ [ I 1 [  [< ooor< oo
£06 [SARUEDIEEY ootmew®l ] o kK op b P PP B P b b K oook oo
207 [cRRUZOLEY ootmews] | | o0f [ 1 1 [ [ I 1 [  [< o< oo
£08 |Aflio0AMLEY o5mywFl ] K ogsf - F o P b B b b ¢ ocooslk 000
209 |ERHEEZHR oo4mews] | < oof [ < ooodf [ ¢ ooo4f | | 0004/<  0004]< 0004
210 [P AL RS 7Y [ 0otmgewy] | 0 ¢ oeorf ] 0 ¢ e ] 0 & oeooff [ ] ooorf[<  oooif<  ogot
Ei1 |REEESRRUERBEEER 10 mg/IUT ] B 054 054
12 [DVRRUZOLEED 0.8 mg/ILLF 0.1 0.1
213 [KORRUEOLEY fogwesl [ < o 1 o . 1 [ [ K 04< 01
14 g (LR ogozmyFl [ oo0f . - o ¢ o B b+ P b < ooo02k og00
15 [14-SA%H> oosmews] | 0 ] osf [ 1 [ [ [ 1 [  [< oos< 0005
E16 |va-12-9m01FLY R b5YA-1,2-Y H0ATFLY 0.04 me/ILLTF _—_———————— 0.001[< 0.001
£17 [vonnisy oo2mews] | | o0f [ 1 1 [ [ I 1 [  [< ooot< oo
£18 [7h5/00TFLY e e YT
19 [F)yO0TFLY ootmews] | | oeof [ 1 1 [ [ I 1 [  [< oootf< oo
20 [Py 001 me/ 1T ___________ 0oot[< o001
221 5% 0.6 ma/IUT ] ] 013 0.19
#22 |yonEeE 0.02 mg/IAF < 0.002]< 0.002
#23 [pookiL L 0.06 meg/IUT < 0.001[< 0.001
#24 [SonOEE 0.04 mg/IAF < 0.003]< 0.003
#o5 [UTnEY/OOARY 0.1 mg/ILF 0.011 0.023
#26 |2%E 0.01 mg/IUF < 0.001]< 0001
E N, 0.1 mg/ILLF 0.045 0073
#28 |M)HOOEEE 0.2 meg/ILT I I < 0.003[< 0.003
#29 [JnESH/OOARY 0.03 mg/ILLT 0.002 0.002[< 0.001 oo4f | J< oo} < 0.002 0.004
#30 [JoEFILL TECHE 003 0.034 0.064 oo3sf [ T ooi7p ] ! 0032 0.064
31 R LTATFER oogmewt] | < oosf [  J< ooosf [ < ooos) | | 008[<  0008]<  0.008
32 |EHRUZDILLEY 1 me/IUF I 0.01 0.01
£33 [7 V3= LRUZOILEY ozmgws | < oof [ ' 1 1 [ [ 001[< 001
£34 [BRUEOIEEY o3mewFf o o} ¢ esp . b o B o b P b K 003[< 003
235 [ARUZOIEEY togwedl [ < oo 1 1 [ [ ] K 001[< 001
#36 [FRIVLRUZDILEY 200 me/ILIF 13.4 134
37 [RoA RUZOEED o0smew] | 0 ] oe0f [ 1 1 [ I I} [  [< ooor< oo
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